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Question 1
Question Type: MultipleChoice

A behavior analyst has been consulting for a client who repeatedly pushes her knuckles into her eyes. After conducting a functional

analysis, implementing a function-based intervention plan, and ensuring all staff were thoroughly trained on the intervention procedures,

data indicate the client's behavior has increased over the last month. What consideration is MOST likely to have been overlooked prior to

conducting the FA?

Options: 
A- The behavior may be a symptom of the client's disability.

B- Staff may lack competence for carrying out the intervention.

C- There may be a biological/medical variable affecting the client.

D- The increase in the behavior should have been anticipated due to an extinction burst.

Answer: 
C

Question 2



Question Type: MultipleChoice

Each response in a chain produces a stimulus change that serves as both a discriminative stimulus anD.

Options: 
A- a prompt.

B- a limited hold.

C- a conditioned reinforcer.

D- an establishing operation.

Answer: 
C

Question 3
Question Type: MultipleChoice

Which of the following is an example of a listener response?



Options: 
A- At dinner time, the client says 'fork, please.'

B- The client labels 'fork' when not instructed to do so.

C- The client repeats the word 'fork' throughout the day.

D- Staff says, 'pick up your fork,' and the client picks up his or her fork.

Answer: 
D

Question 4
Question Type: MultipleChoice

According to the BACB Guidelines for Responsible Conduct, documenting professional and scientific work is necessary to:

Options: 
A- prevent litigation.



B- ensure accountability.

C- bill for third-party insurance payments.

D- maintain ongoing contractual relationships.

Answer: 
B

Question 5
Question Type: MultipleChoice

Steven lives in a group home with four other men. Most of his housemates spend about equal amounts of time in the living room and the

recreation room. Steven spends about 75% of his free time in the living room and 25% in the recreation room. Staff observations have

shown that staff attention is very reinforcing for Steven. If the matching law is operating in this scenario, what is the predicted rate of staff

attention to Steven in the living room?

Options: 
A- It is 1/3 of the rate in the recreation room.



B- It is 3 times the rate in the recreation room.

C- It matches the rate of attention in the recreation room.

D- It matches the average rate of attention in the two rooms.

Answer: 
B

Question 6
Question Type: MultipleChoice

A DRO was implemented for a young child with developmental delays to address reduction in the behavior of hair pulling. The child also

has excessive levels of nose picking, and skin picking. Data collection needs to include rates of these behaviors as well due to the

possible effects of behavioral:

Options: 
A- conduct.

B- contrast.



C- rehearsal.

D- repercussion.

Answer: 
B

Question 7
Question Type: MultipleChoice

Which is NOT a necessary component of a token economy system?

Options: 
A- backup reinforcers

B- exchange procedures

C- generalized conditioned reinforcers

D- response cost procedures



Answer: 
D
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